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Sec 2.3 day 3: Finding the zeros of a function
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Find the zeros of the function:
EB LT x®-4x=0

X(x*-4) =0
X-(x +2)(x-2) =©
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Sec 2.3 con't — roots or X-mberce pts

Finding the zeros of a function

f(x) =ﬁ- X* - BX
X(x*-x-6) =0
X(x-‘;Yx-&Z):Q

X=0Q,3 -2 EB 7

Oct 9-8:36 AM



PC sec 2.3 notes zeros and multiplicity day 3 2019-20.notebook

September 05, 2019

odd times - goes through
9 T K‘:‘

ex. f(x) = (x + 2)%(x - 1)?
Xo-=(x+2) (x*?)(m?.) (x-)(x-1)=0
N— IN————

Multiplicity of a Zero (where the graph may bounce)
If a factor is repeated, even times the graph bounces

l; X=-Z X= | T
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Factor bl‘i""""‘T
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(x+2)(x*-4)=o

X wu) =0
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g e 1T
foor= (x +9) (2’(-%!-1) = §XA4 .
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Homework. Label as Sec 2.3 day 3

In Exercises 3338, find the zeros of the function algebraically.

33. f(x) =x>+2x— 8

35. f(x) = 9% —3x—2

37. f(x) =3x3 — x? — 2
In Exercises 39—-42, state the degree and list the zeros of the polynomial
function. State the multiplicity of each zero and whether the graph

crosses the x-axis at the corresponding x-intercept. Then sketch the
graph of the polynomial function by hand.

39. f(x) = x(x — 3)?
41. f(x) = (x — D3(x + 2)?
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